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Precision and determinacy are a necessary requirement for all meaningful scientific debate, and
progress in the sciences is, to a large extent, the ongoing process of achieving ever greater precision.
But historical representation puts a premium on a proliferation of representations, hence not on the
refinement of one representation but on the production of an ever more varied set of representations.
Historical insight is not a matter of a continuous “narrowing down” of previous options, not of an
approximation of the truth, but, on the contrary, is an “explosion” of possible points of view. It
therefore aims at the unmasking of previous illusions of determinacy and precision by the production
of new and alternative representations, rather than at achieving truth by a careful analysis of what was
right and wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever more confusion,
a continuous questioning of , rather than, as in the sciences, an ever greater approximation to the
truth.
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Precision and determinacy are requirement
progress is, ) process
But representation puts premium .
insight is matter '
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Precision and determinacy are requirement, and progress is process.

But representation puts premium.
Insight is matter but is “explosion.”
It aims.

And development may be regarded.
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Precision and determinacy are a necessary requirement for all meaningful scientific debate, and
progress in the sciences is, to a large extent, the ongoing process of achieving ever greater precision.
But historical representation puts a premium on a proliferation of representations, hence not on the
refinement of one representation but on the production of an ever more varied set of representations.
Historical insight is not a matter of a continuous “narrowing down” of previous options, not of an
approximation of the truth, but, on the contrary, is an “explosion” of possible points of view. It
therefore aims at the unmasking of previous illusions of determinacy and precision by the production
of new and alternative representations, rather than at achieving truth by a careful analysis of what was
right and wrong in those previous representations. And from this perspective, the development of
historical insight may indeed be regarded by the outsider as a process of creating ever more confusion,
a continuous questioning of , rather than, as in the sciences, an ever greater approximation to the

truth.



2. £X0{(modifier)= 2t 2

HoZ iS0f 30f ZuHH

HEE = tigS A

|0

o| LiE

HEst= g5
SLICt. O]
HA1L|Ct



SHMOZ SHIE A XA E S BEOILICT

— -1 T od

G OEA wrote = X, 0{H Men?! X,
O tomato®l X[, J2|1 boy= 0= FELL
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The girl wrote.

Men gathered at the stadium.
| ate a tomato.

The boy was exhausted.

w7t Mo 2 FA|El £A0{(modifiers)ol| 2|51
M 228t HEIL MR D, 25| L]O| 35
T8} E|ALICE

The girl wrote quickly. &0 £4))

Brave men gathered at the stadium. (F0f £:4))
| ate a rotten tomato. (SX0] $=4)

The boy was so exhausted. (201 Z2 20 $4)
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comprement

| ate a tomato. - | ate a rotten tomato.

EHM0Q!l tomatoOf| st AX|ZQl HEHE K|35t 11 &L

Ct. ™ tomato? rotten tomato!
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comp ement

| ate a tomato. - | ate a rotten tomato. — | ate a very rotten tomato.
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[2] Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike.

djust 5t= A”E foot strike?t 27| Ho|2tn 1LX|gt sF1 UAELICH

[3] Researchers began to believe that runners are able to adjust leg stiffness prior to foot strike
based on their perceptions of the hardness or stiffness of the surface on which they are running.

et &2 A2 (leg) stiffnesst@ perception X surfaceE A3t sliF= A0 E HS5H0] F4M-S0] leg stiffness
E 9XE £ U= SO MNE AHEOR YT B USS L43ELICE

(leg) stiffness « based on their perceptions + of the hardness or stiffness of the surface + on which they

are running
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The girl wrote quickly. (&0{2l wrote £:4)

Brave men gathered at the stadium. (F0{2l men $=4)

| ate a rotten tomato. (2X0{2! tomato $=2)

The boy was so exhausted. (201 2 20{2l exhausted $=2})



| failed in the exam, which was a total disaster.

OHOE “| failed in the exam.”0fl £7IXQl MHE K|St 2AE =22 AEH 28| 2HAE
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| failed in the exam, a situation that(£2 which) was a total disaster.

22t Z2 $A0{E resumptive/summative modifier2tl 2ELICHRIS| ARE summative
modifier7t AF2El A0 sHEH EILICE. | failed in the examS a situation2 2 QM 1,
situationO|2H= S EHO{Ql £ AICHAIO E 2R Z stoig £AISHES 2 El QL.

Qlo] GloIME & 2 U= WX SAfaoj= Bt=A| “S EHO{(a word)” Q! 20| IE|QiL|ct,

AtA A0 9| HeHE 28 (restrictive B2 essentail modification)t &% 2
(non-restrictive 2 non-essentail modficaition)2 comma?l 18 7|5lL|C £
AL 2 32l sfiAut =IH =0l 20| Q17| WE0f| I 04 AF stX|= LASLICE =

Al ZHAl QI 2EE2 ofgf &= HEHE ATIEIM|Q.

O M =2

https://style.mla.org/restrictive-nonrestrictive/
https://writing.wisc.edu/handbook/grammarpunct/commas/
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SA0{7F T3t S 4 Rl SACHY0I0] BALS T El0f UBLICH HEAF B B
OfLt BEAL 7153 £t T 2 BAH B2 THYARIS 2418 4 9lom, A}
2Afel CHOfLE KAl 7158 4 S SA, YBAL B2 HAIGIE 2418 4 9

SLItE F7t HEE MS e Ao Bl =25 7| flet AE Lot

The girl wrote quickly.

(BA - 20{2 ABE AR wrote =4)

Brave men gathered at the stadium.
(FE8AL = HAIR! men £=4])

| ate a rotten tomato.

(FE8AL - HAIR! tomato F=4)

Everyone on the committee is happy with the plans.
(Everyone « on the committee, &AL 7|52| FX|AIT, happy + with the plans, FAt 7|52 TX|ARR)

That aircraft was a basket lifted by a balloon.
(basket + lifted by a balloon, $EAl 7| 52| 2AtH)

Members voted to accept his offer.
(voted + to accept his offer, £At 7|52] to 2-ALR)

A woman whom we met recently received an award.

(woman + whom we met recently, §EAt 7|52 A H)

As you hear the score, you notice themes that are associated with various characters.

(notice + As you hear the score, At 7|52 Z47)
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pre-modifier

2400 PO

| knowa smart boy doing his job sincerely.

post-modifier
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Brave men gathered at the stadium.

(Brave men?| 0]l fIX[st JELICH

| ate a rotten tomato.
(rotten2 tomato 20| XI5t Y&LICH

{0k

%] 4]
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Everyone on the committee is happy with the plans.

Al
2

0f-4

(on the committee= Everyone 0l {IXISt2 11, with the planskt happy2l Floll {IXIst2 AELICH

That aircraft was a basket lifted by a balloon.
(2A2Q! lifted by a balloon2 basket Fof| {IXI5t1 UELICH

Members voted to accept his offer.
(to 22! to accepted his offer= voted {0l ?|XI5t1 AUELICH

A woman whom we met recently received an award.

(AL whom we met recently= woman F|0fl /XI5t QELICH

Al
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A woman whom we met recently received an award. (

A whom we met recently woman received an award. (HX| 412 4)
g2, Whom we met recently a woman received an award. (HX[ =4
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The girl wrote quickly.

(The girl quickly wrote 2t #ZIS X[FHM AH DOt E2S7IR? A= SIS 4 #2310 W2t 232
LS &7l olsliet &= ANHM E1R)

Scientists need only understand how to use these various elements in ways that
others would accept.

(MRIAFEQl in ways that others would accepti= HEZ 2H0l| 2|X|§t elementsE AloHs A7IR7 use HIZ

dof| FH HENR? EE, AXIE 3 A HASHH Scientists need only understand how to use in ways

that others would accept these various elements...2t= A2 =2 [ O|abet L7} E|H{2[ 10 BL|CE 5HX]|
=

3, Scientists need only understand the acceptable ways of using these elements. 2t11 4iCHH 2

e RAAJAAKIL.)
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The girl wrote quickly.
(RARR! quicklyZt +AB1E 2= QU= CHARZ wrote 10l QIELICH IS4 MOt = 2|2}
= "HEA" = LW HERLICH WEEM quickly= wroteE ASHELCIDT 17| ZHEFEE 2= QUELICH

Scientists need only understand how to use these various elements in ways that
others would accept.
(L84 CHE 1FetXE0] 2ot S0[= 042 71X HA2 “AL8” HWAlS o|0|5t= 0| . [MEFA in ways that

o
others would accept= useE A8t EHEIE 4= QIELICH

Elderly criminals in Florida sometimes lead the police on chases at speeds of 10 to
15 mph.

(AT 07t lead &TR? police @27 HX|AER! on chases at speeds of 10 to 15 mph”7t 10 ~ 15
mph2| £E2 £ 5"0[2t= 2|0[0|22 FZ9| FH|Ql policeE AN 2 Hi= 20| EFEILICH
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Of all the states represented at the conference, the governor of Missouri was the only
one to present plans for enforcing the new regulations.

Of all the states represented at the conference, Missouri was the only one to present
plans for enforcing the new regulations.

M3t S0l Bt
Q7 FXAP B2

- /=

(MRIAFR! “Of all the states represented at the conference” & LS4 &
HE HMSst AELICH 20| HESH= L84 +Ad0l= 0| =00 e7te? FX
Missouri ? TX|AFT7} statesOf| 218t 0|0F7|E 5t Q22 =, statef| 2ret HHIL 2
Z&7? "Of all the states represented at the conference” & HI2 20f| 2|X[8t 0]
= TAMNFE IEAMTZ ALE EIRIELICH

fol ot

s

| AL
= 20
2l Missouri
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Collocation E&0]| etz ~AICHAO]

9. ZHtts| MYHSIAIH, TS0 &7 22| X[0] AFE £|= S4E collocationO|2t 1 £ELICH
Phrasal verb= CHEXQ! collocation?| K|LICE. Phrasal verbOlIA SAIRF &7H ALE E[= MX|At=E
st SAIE AT E XA E CHELICH WAL =2 $8AIVF MX[ALRL &1 AFEE = MX[ALZ}
TEE= MXAEE collocated E A 22 Y EAIE £AICHIAO 2 JHELICH O=X| ZCHH A 2
Of Cte O|]7t QZE? XM= QEX| MXAIFE THEE= 2X0f|TF ARRE|L|7IIQ.
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CHE2 phrasal verbs2| O LIC}. Z2f SAtRt &4 At E|l= TX|ALE ST SALE A2 7t
K= XA E BHELIC.

Verb + Preposition Combinations

V + about V + at V + for V + of V + off
ask guess apologize complain I break
complain laugh ask die (also die from) call
dream r look r buy r dream cut
forget smile do getrid fall
talk r stare r look r think jump
think yell make keep
worry pay live
study take
thank turn
V +on V + to §V+toward V + with V +in
count ] agree L head ; agree excel
disagree apologize turn argue succeed
have ] be used L walk : break up
keep belong E work compete
pick L complain L l cooperate :
put i contribute disagree l
rely ] explain L : fill
take introduce get along
wait L listen L L help
work object finish
L pay attention work
l relate l l
reply I
say
r speak :r r l
talk

32



2} ARt e AHE El= HXIME SiiE FEAE SAUMYUZ &= HRIMFE THELICL

.........................................................................................................................

A + about, at, for, A + by, with A + for A + from
angry about/at/with |  bored by/with | accountable | different
“concerned sbout/with | embarrassedby | bad L dvorced
"""" excitedabout | fustratedby/with | good | isolated
 happyabouvwith | i eady 4
""" somyaboutfor | | necesary i
unhappyabouthwith | i i

A + in, with A + of A + to A + with
disappointed in/with afraid boring familiar
interested in irfond r committed r impressed

guilty confusing pleased
in favor | important satisfied
] proud married :
sure/unsure opposed ;
irtired ' pleasing E

.........................................................................................................................

.........................................................................................................................

i unimportant
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N + about : N + between ; N + on : Noun + to
confusion : difference : advice : alternative
------------------------------ I L L L e e L L L e L L L L T
question ; ; tax ; connection

: : : damage
: : : invitation
------------------------------
: : : reaction
; : i reply
: E : solution
------------------------------
N + of : N + for : N +in : Noun + with
------------------------------ R R e EE O E P e D L P e e L PR L CE PRt DECEPEE LR POREEEPPERERET PEPEEE
advantage : answer : background : agreement
------------------------------ R e R L]
benefit ; application ; change ; connection
cause : check : decrease : contact
cost : concern : experience : contract
decrease : demand : fall : experience
.............................. R L T T A L L o T T
diagram ; excuse ; increase ; the matter
example : fondness : interest : negotiations
"""""""""""""""" [ T T T T T T T TS E =
experience ; interview ; rise ; trouble
fall ; need ; ;
group E order : E
illustration : payment : :
increase : question : :
______________________________
lack : reason : :
..............................
map : request : :
______________________________
opinion 5 something : 5
payment ; ; ;
photograph : ; ;
------------------------------ L B T L EETECEEEr
picture : : :
------------------------------
price ; ; ;
rise ; ; ;
understanding ; ; ;
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Dreams within a dream that is spliced and diced up inside another dream confuse me.

(is) spliced/diced + insde another dream
dream « that is spliced and diced up inside another dream

1 EAl: 22{ofet £M Dreams «within a dream that is spliced and diced up insdie another
o] mpet

dream
2=A10] otof| £=Al0{7t Zete|= Alo| It 2A|E X2[5ts B CF2 B 29| Q20| A CHE o
Helu|ch

(is) spliced/diced + insde another dream
CHE Zo| YR=Z ZZLICE
dream ¢ that is spliced and diced up inside another dream

CtAl- 2AAIH AHE
2 EAl: 40| 3RS Ct2 Bo| dxa xzHLM Zite &

Alciaoof =7t

1

Dreams «within a dream that is spliced and diced up insdie another
dream
CIE Bo YR = ZZLEM ZatEl & ool BE
3 thA: etk sofol of LS SEIAEA TEC + CHE Bl 2R 2 RZLEM Z2etE Hotel 5= = TE

4+ Ho| LH2 ZaHEl BOo| HEO| LIS E2AF BHEC.




M| Z7HX| =4 R1Z1} coherenceE &8N A] =A10{2] mfotnt =ALH0{Q] mef, J2|10 =41 267
Fa= oiMsts AaS A=alE Izl #Ix] B, RES] TIASHMR. 4 27 72 Z=2 /<
e WY QILICE. CHEt, =4 2| RS2 Thelshr| Toj| BEA| 284S mefsh 20| A5S AIZfSt
M. R A0 = 2EAY HLZIR. J2|1, EHQAE metstn 2 thaof CisiM 4
20| 02 5 metst= 0] W g LR, E S, 2007t FIH HEE MSsh=s AT
2N ZER24E 2elot= MY 2 S HILIR.

The principle of distinctiveness suggests that we make attributions about people based on
whether their particular characteristics and actions are associated with specific outcomes unique to
the situation. Distinctiveness is the extent to which things occur only with each other and not with
other things. For example, if a student, who has a habit of submitting his assignments late, seems
well liked by peers and professors but is clearly treated harshly by one of the professors, then the
student seems to cause a distinctive reaction from this professor. If the professor in question is
consistently harsh with many other students, then the behavior is not distinctive to the late-
assignment student; rather it is low in distinctiveness, and you will tend to consider the professor a
harsh person. If, instead, you see this professor being friendly with all students except the student
with the late assignments, then the student seems to be unique or distinctive in eliciting this
response from the professor. In this case, the professor’s behavior is high in distinctiveness and you

are more likely to attribute the cause to the late student having done something to upset this
professor.

(BEA B2 A} EALD) Toj= Z3#
B 20f 2x0f Hof
The principle suggests that we make attributions
Distinctiveness is the extent
the student seems to cause a distinctive

reaction
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The principle of distinctiveness suggests that we make attributions about people based on whether
their particular characteristics and actions are associated with specific outcomes unique to the situation.
Distinctiveness is the extent to which things occur only with each other and not with other things. For
example, if a student, who has a habit of submitting his assignments late, seems well liked by peers and
professors but is clearly treated harshly by one of the professors, then the student seems to cause a
distinctive reaction from this professor. If the professor in question is consistently harsh with many other
students, then the behavior is not distinctive to the late-assignment student; rather it is low in
distinctiveness, and you will tend to consider the professor a harsh person. If, instead, you see this professor
being friendly with all students except the student with the late assignments, then the student seems to be
unique or distinctive in eliciting this response from the professor. In this case, the professor’s behavior is high
in distinctiveness and you are more likely to attribute the cause to the late student having done something
to upset this professor.

HR|AF Head

of distinctiveness principle
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based on whether their particular characteristics and actions

. . . . . atrributions
are associated with specific outcomes unique to the situation
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Sentence is a unit of (logically) complete meaning.

Sentence is not a group of words but a group of elements and modifiers.

= =
=8 = 222 + 29

An element or a modifier can be a word, phrase, or clause.



